238

AERAEE  ANSERHSEY o
1 {2} 7 [Ts2sxe=44
7 [z} = B {11 7 {2} A Bl 2sxa=8 58
= [BhErm Bl 2 sxo=ak (
[2] 7 {3} 7 {4] 17 {51 £ A2 5xs=10 4
2] # (3] 7 [4] £3 Bl 2 mxa=s &
Y ® 4 © % ) % Bl ®@us2axi=sR
> (2] £2AX1I=14
= cannct find Qe where 1 should turn W3} &2ax2=4 8
L@ sound 4 H28x1=24
2 (3} - (5] 4 28x2=¢ 4
2 Ea Vi RS B BT Mal #28%X3=8 8
71 @y szExi=24
theories 2 #28%x1=24
+ (2) i (3) " B3 &2 8x3=8
v () = {5} 7 M9 #28%3=64
different [2] language or math M8 42EX2=44
= (2) . el & 2AX2=4 4
7 7 7 B COET A3AXE=4A

(fig) 128x1=124

Ehe

ey
En




